H & 0l & AHS B Ml A

248 20laF Letal 2tat (g IS
SN 2 OIS
. THESA 243t
CHol: THRISAL RO BAE X (Srol: 22)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2t o doEE Y 36,706,735 36,750,305 956,430
= 12,845,595
[ 56,500
Il 6,507,127
< 7,951,379
Al 9,346,134
A2 SAH 2435t 35,500 49,020 213,520
AESAH B0 243t X3 35,500 49,020 A13,520
AESAES K2 35,000 48,520 213,520
201 fet=23y| 3,600 4,000 A400
01 AtR2te|HI 3,600 4,000 A400
OXESAHE S X 3,600
206 M=l 5,000 5,000
01 MHZHI 5,000 5,000
oNnzsAEs NE 23 5,000
301 EtE NS 26,400 39,520 213,120
14 IIEt2 83 26,400 39,520 13,120
OXIASALAF nF &4 1,000
OXESAA &5 9,000
ONAS K24 SA &S 800
OARIZSTIAIE NHESAHA S 7,200
ONHHSAU &= 1,200
OO0l - DISSAH &= 2,400
OE=ZAMNESMU 2= 1,200
ORISEISAI &= 2,400
OzRSI=SAH &= 1,200
OIS 2 500 500
201 Zet=d] 500 500
2 s5=34l 500 500
OHIINSAt 2&H| 500
oy - OlssA Sd 34,230,233 33,307,895 931,338
= 12,456,276
[ 56,500
Il 6,507,127
== 7,350,540
Al 7,868,790
IIEEERXE 8,608,323 7,932,405 675,918
7l 6,231,727
= 1,018,948
Al 1,357,648
NAS sR201E e A 799,500 820,000 220,500
== 239,850




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

celr I3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 569,650
301 EtE NS 799,500 820,000 220,500
=S 239,850
Al 559,650
02 ARSI SE AT S(FIANS, XLETHE) 799,500 0 799,500
OMaS stR220tE iy N 799,500
< 239,850
Al 559,650
HFAEERE THEHI 62,381 60,263 2,118
Jl 49,905
< 6,238
Al 6,238
301 2P EN= 62,381 60,263 2,118
Jl 49,906
=S 6,238
Al 6,238
01 Al 2E AL S(FRDEXM) 62,381 60,263 2,118
OF2EER2 NS 62,381
7l 49,905
= 6,238
Al 6,238
SHREEIIES 2FHl S A& 7,727,542 7,033,242 694,300
Jl 6,181,822
= 772,860
Al 772,860
301 EtE NS 7,727,542 7,033,242 694,300
Il 6,181,822
= 772,860
Al 772,860
01 Al EE AT Z(2DEXR) 7,727,542 7,033,242 694,300
OsHFRIIEE SFHl S A& 7,727,542
) 6,181,822
& 772,860
Al 772,860
e dngs XN 18,900 18,900
301 EtE N = 18,900 18,900
11 #AIAMHIXIZ S 18,900 18,900
Oy MYs=ELUS 18,900
orsEs X& 25,630,910 25,375,490 255,420
= 12,456,276
= 56,500
Jl 275,400
= 6,331,592




A 2t IS L
M oY - ots=X A

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,511,142
PR 28| N2 11,193,300 11,837,436 N\B44,136
= 7,494,975
= 2,498,325
Al 1,200,000
301 EtE N = 11,193,300 11,837,436 NG44, 136
= 7,494,975
= 2,498,325
Al 1,200,000
01 AR 2EHSFS(RNEERTHE) 11,193,300 11,837,436 N\6B44,136
O=EFuAA o12d| XI& 11,193,300
= 7,494,975
< 2,498,325
Al 1,200,000
SSNAE HRME X (LAZSEZHEH]) 2,892,879 2,789,748 103, 131
= 1,735,727
== 578,576
Al 578,576
301 22N = 2,892,879 2,789,748 103, 131
= 1,735,727
=S 578,576
Al 578,576
01 Al E2E A S(FREXM) 2,892,879 2,789,748 103, 131
S MM KN (LDAI2SEZH
&) 2,892,879
= 1,735,727
= 578,576
Al 578,576
SN MM N(ERAZ WAL XIE) 4,971,773 4,750,134 221,639
= 2,983,063
= 994,355
Al 994,355
301 EtE NS 4,971,773 4,750,134 221,639
= 2,983,063
= 994,355
Al 994,355
01 Al EE A2 (ZDEXMR) 4,971,773 4,750,134 221,639
OESNAE MRS X (2RHT WAL
) 4,971,773
= 2,983,063
= 994,355
Al 994,355
SKWAY MRME XA (RAIBA 2F XIHI) 74,421 101,3% 126,973




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 44,653
=S 14,884
Al 14,884
301 EetE2 NS 74,421 101,3%4 N26,973
= 44,653
= 14,884
Al 14,884
01 Al EE AT S (2 RDEXA) 74,421 101,3%4 N26,973
SRR MM N(RAHEE JE
X&) 74,421
= 44,653
= 14,884
Al 14,884
EKWAY HRHE N (SEESUA SE22+E 92,714 108,816 16,102
= 55,628
= 18,543
Al 18,543
301 LEtE N = 92,714 108,816 16,102
= 55,628
== 18,543
Al 18,543
01 AR E2EHSFS(RRNEERTHE) 92,714 108,816 16,102
OZEFuAA MRNH N (SELES LA
CEECER=) %2.714
= 55,628
< 18,543
Al 18,543
o201 X1 (M =Hl) 118,120 125,734 ANT7,614
= 70,872
< 23,624
Al 23,624
307 glztol & 118,120 125,734 AT,614
= 70,872
== 23,624
Al 23,624
11 AMRISXAEEES 118,120 125,734 AT,614
O w-H] 118,120
= 70,872
=S 23,624
Al 23,624
Oelold X (HeE2El) 49,640 55,221 25,581
= 29,784
=S 9,928




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Al 9,928

307 gl2tol & 49,640 55,221 A5,581
= 29,784
= 9,928
Al 9,928

11 AMEISXAIEEXS 49,640 55,221 A5,581
OO0{gloly XA (Xtz2hl) 49,640
= 29,784
& 9,928
Al 9,928

Olglold X (sojEgeloiziold X&) 12,051 12,313 N262
= 7,231
< 2,410
Al 2,410

307 glztol & 12,051 12,313 N262
= 7,231
== 2,410
Al 2,410

11 AMEISXAEEES 12,051 12,313 N262
0020l XS (SHEHANE0IE) 12,051
= 7,231
=S 2,410
Al 2,410

Oglold nALEXA 15,239 15,190 49
= 9,143
=S 3,048
Al 3,048

301 EetE2 NS 15,239 15,190 49
= 9,143
= 3,048
Al 3,048

01 Al EE A S (2 RDEXMA) 15,239 15,190 49
O0e0ld AL 15,239
= 9,143
= 3,048
Al 3,048

B30I KJ(HEA) 494,400 624,000 129,600
=S 395,520
Al 98,880

307 @12t01 & 494,400 624,000 129,600
== 395,520
Al 98,880

11 AMEISXAEEES 494,400 624,000 129,600




2A:
X XH -
o e

=aak

2t 0" IR
od - Ots=A &8
orsE= X&

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

O3380&0l& XA 494,400
& 395,520
Al 98,880

HElold Jlsed 113,000 0 113,000
= 56,500
& 28,250
Al 28,250

402 QI2E X201 ™ 113,000 0 113,000
= 56,500
= 28,250
Al 28,250

02 QIZEXHE A 2 (01 THE) 113,000 0 113,000
ooglold Jised 113,000
= 56,500
T 28,250
Al 28,250

SFWAF MR 1,484,384 1,581,946 AN97,562
& 445,315
Al 1,039,069

301 LPENZ 1,484,384 1,581,946 AN97,562
& 445,315
Al 1,039,069

2 M BEA>HS(HUHS, NYTHA) 1,484,384 0 1,484,384
OE=FuWA HRI&H| 1,484,384
T 445,315
Al 1,039,069

FAXS Hel0ld 23| 5,100 5,544 AN444
= 1,485
Al 3,615

307 212+01 A 5,100 5,544 AN444
& 1,485
Al 3,615

11 AL =SXAMEES 5,100 5,544 AN444
OFLRSE Helold 29| 5,100
& 1,485
Al 3,615

SEsAE W Y X3 168,960 195,678 AN26,718
= 33,7R
Al 135,168

307 2I2+01A 168,960 195,678 A26,718
T 33,792
Al 135,168

11 AR SXAMEER 168,960 195,678 AN26,718




2A:

X XH -
o=

2t 0" IR
od - Ots=A &8

el Ol sER K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OESAIE & - &l X2 168,960
= 33,792
Al 135,168

284 R OHERIE0lS X2 93,425 137,593 A\44,168
=S 28,027
Al 65,398

301 EtE NS 93,425 137,593 AN44,168
< 28,027
Al 65,398

02 MBI 2HHSFHS(FHAANS, KLHE) 93,425 0 93,425
OAxEAUIIE & JHERIE0tS A 93,425
S 28,027
Al 65,398

AFAEHHE & OHERS0sS 2RI 80= 217,784 277,784 0
= 27,778
Al 250,006

301 EetE2 NS 217,784 277,784 0
s 27,778
Al 250,006

02 ARSI SE AT S(FIANS, XLETHE) 277,784 0 277,784
O8RS 2SH| 277,784
& 27,778
Al 250,006

Hd20ts2 S| 36,000 24,000 12,000
= 25,200
[ 3,600
Al 7,200

301 2EN= 36,000 24,000 12,000
= 25,200
s 3,600
Al 7,200

01 Al EE A S(FRNEXM) 36,000 24,000 12,000
(OFSE =kt 36,000
= 25,200
= 3,600
Al 7,200

(U =r= PN 1,734,300 1,562,120 172,180
7l 275,400
= 632,700
Al 826,200

301 EetE2 N = 1,734,300 1,562,120 172,180
Il 275,400
= 632,700
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172,180

5,000
5,000

A5,000
A5,000

340,053

A4,000

4,000
24,000

MEE
Ofl &k2h

1,562,120
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340,053
340,053

6,500
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6,500

24,132

Ofl &F2H

275,400
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1,734,300

1,101,600

Al
Jl
Al
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632,700

10,000
5,000
5,000
5,000
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7,000
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340,053
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340,053
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262,153
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2A:

E M

A 01 & IR
ol - OIS=X B

ol OS2SR X2 CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 7,240
Al 16,892
02 MBI EEAGS(HAUAS, XLTHEA) 24,132 0 24,132
OOt 20{2 01 2HJIAHH] K& 24,132
& 7,240
Al 16,892
Oelold Z2taldl XIJ 745,272 447,274 297,998
T 303,203
Al 442,069
307 2I2+0l™ 745,272 447,274 297,998
= 303,203
Al 442,069
11 Al SXAMEE X 745,272 447,274 297,998
O0gold s2tall X 745,272
T 303,203
Al 442,069
2l01& OMIgt 2gHI XA 262,980 335,880 AT72,900
& 78,84
Al 184,086
301 LB F 262,980 335,880 AT72,900
T 78,8%4
Al 184,086
02 ASIBEEHS(FHLHS, NSME) 262,980 0 262,980
O 0IE oML 2| XI& 262,980
= 78,8%4
Al 184,086
FRXFAIE WA 1A =t K& 346,683 0 346,683
& 104,005
Al 242,678
301 LPENZ 346,683 0 346,683
& 104,005
Al 242,678
2 MBI 2EA>HS(HUHS, NSHA) 346,683 0 346,683
OFRXEALE WAR 1Al =It K& 346,683
& 104,005
Al 242,678
0I2F- JIEOEI0IE Zotet 2gH| X2 (E] dEE 64,800 0 64,800
OIXI&)
& 19,440
Al 45,360
307 212+01™ 64,800 0 64,800
& 19,440
Al 45,360




2A:

2t 0" IR

M o4 - ots=EX B
el ofsEs A3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 AlRISXIAIEEE 22X 64,800 0 64,800
OgIzt- JtEoeloly Fote 2| X1 (F
2 QIMIEIE 0IXIY) 64,800
= 19,440
Al 45,360
o=k sd 2,346,286 2,302,570 43,716
= 389,319
== 600,839
Al 1,356,128
Sdgery X3 2,346,286 2,302,570 43,716
= 389,319
= 600,839
Al 1,356,128
oL & 2etEs KIE 10,000 10,000
301 EetE NS 10,000 10,000
11 #AIAHIXIE S 400 400
O=2stud 2tg3l 400
14 JIEt2 8= 9,600 0 9,600
O=232tual A 9,600
COIIIANIE RAIE= 16,620 17,400 1,780
307 elztol & 5,620 7,400 1,780
10 Al SXAAEEHE 22X 5,620 7,400 1,780
OZ=¢Y SIMEE= 3,120
OZ 2 JtAtNEA 2,500
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&HI 10,000 10,000
ONoIEETE KL+ 10,000
Lol 2dEXT| K 4,500 5,000 A500
= 1,350
Al 3,180
301 EtE N = 4,500 5,000 A500
= 1,350
Al 3,150
02 A2 XSG (FHAAHS, NSWE) 4,500 0 4,500
ool 2EXI| X2 4,500
=S 1,350
Al 3,180
d2g 28X 1,137,740 1,134,250 3,490
< 125,184
Al 1,012,556
307 lztol & 1,137,740 1,134,250 3,490
= 125,184
Al 1,012,556




2A:

B Lol=x =
ol :deory X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 1,137,740 1,134,250 3,490
O=gH| 560,720
= 46,944
Al 513,776
OztA| 97,800
s 14,996
Al 82,804
Odittt| 316,220
& 63,244
Al 252,976
O 4| 163,000
DISE 329 283 4,184 4,184 0
=S 837
Al 3,347
307 21201 & 4,184 4,184 0
< 837
Al 3,347
11 AMEISXAEEES 4,184 4,184 0
2g4| 1,440
< 288
Al 1,182
O©2tAMH| 800
= 160
Al 640
Ot 1,944
[ 389
Al 1,555
2 Ul & A=HIXH 778,638 693,157 85,481
= 389,319
< 77,864
Al 311,455
307 212+01& 778,638 693,157 85,481
= 389,319
=S 77,864
Al 311,455
10 Al SXAEEE 22X 778,638 693,157 85,481
oZ2¢g 4t X 107,580
= 53,790
= 10,758
Al 43,032
OZ2d SEJ| <EH & 603,100
= 301,550
= 60,310
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